
UNIFIED INTERNATIONAL ENGLISH OLYMPIAD - UE534  (UPDATED)

website : www.unifiedcouncil.com

01 A 02 B 03 D 04 B 05 A 06 D 07 C 08 D 09 A 10 D

11 A 12 C 13 D 14 C 15 D 16 B 17 D 18 B 19 D 20 C

21 A 22 C 23 D 24 C 25 D 26 C 27 B 28 D 29 C 30 D

31 C 32 B 33 A 34 B 35 C 36 B 37 C 38 D 39 C 40 D

41 B 42 C 43 D 44 B 45 C 46 D 47 C 48 D 49 A 50 B

KEY FOR CLASS :  9

Please note that this key is within the purview of
Oxford Advanced Learner’s Dictionary, published in 2014.

Explanations and answers to select questions

03 Option (D) is the correct answer. It is pronounced as ‘sow’ like ‘tow’.
04 Option (B) is the correct answer. They are : Port, Post, Pots and Pros.
07 Option (C) is the correct answer. The correct spelling is : Occurrence.
09 Option (A) is the correct answer. It is Bash = Bang+Smash.
23 Option (D) is the correct answer. The conjunction ‘since’ means ‘because’ or ‘as’.
25 Option (D) is the correct answer. ‘Many a student’ is used with a noun and a verb in the singular. ‘Many

students’ takes the students collectively, ‘many a student’ takes them singly for the verb.
26 Option (C) is the correct answer. For keeping the structure of the sentence parallel, two gerund phrases need

to be used.
27 Option (B) is the correct answer. The sound produced by the first syllable of a word decides the indefinite

article it takes. In case of ‘european’ the sound produced is that of a consonant as in ‘you’, so article ‘a’;
in case of ‘asian’ the sound produced is that of a vowel as in ‘aim’, so article ‘an’.

32 Option (B) is the correct answer. Development in a city/town/village leads to a sprawl and so does famine
to malnutrition.

33 Option (A) is the correct answer. That is the only one which is not a bird of prey.
44 Option (B) is the correct answer. We can have only apostrophe after the last letter ‘s’ of a singular noun

only if the last syllable of that noun begins and ends in ‘s’ as in ‘Moses’.
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